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Hinclude <stdio.h>
Hinclude “tree.h”

int main(void)

d
int i, n=8, a[]={30, 20, 10, 40, 50, 70, 80, 60};

NODE *root=NULL;

/] 2 RBE AR DR

for(i=0; i<n; i++)
root=TreeAdd(root, ali]);

/] 2P IRBERDRTR
TreePrint(root, 0);

return 0;

;

./a.out
80
70
60
50
40
30
20
10
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X NOEENESE:

NODE *TreeSearchP(NODE *p, int x)
d

while(?1 1= NULL && x |= ?2){
if(x < p->data) p = ?3;
else p = ?4;

h

return p;

)
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2 BRBEARDIRZKEE (BFw)

NODE *TreeSearchP_r(NODE *p, int x)
d
it(p==NULL) °1;
if(x==p->data) r2;
if(x<p->data) TreeSearchP_r(?3, x);
else TreeSearchP_r(?4, x);

)
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Hinclude <stdio.h>
Hinclude “tree.h”

int main(void)
!
int n=8, a[]=1{30, 20, 10, 40, 50, 70, 80, 60},
int 1, nx=3, x[]=1{30, 80, 1000},
NODE *root=NULL, *p;

/] 23 RBEARDIER
for(i=0; i<n; i++)
root=TreeAdd(root, a[i]);

/] 2 REBERDER

for(i=0; i<nx; i++){
p=TreeSearchP(root, x[i]);
if(p==NULL) printf("%d not found!¥n", x[i]);
else printf("Addr. of %d is Yop¥n", x[i], p);

h

return 0O;

)

./a.out

Addzt. of 30 is 0x560595de2770
Addt. of 80 is 0x560595de26b0
1000 not found!
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Hinclude <stdio.h>
Hinclude “tree.h”

int main(void)

d

int n=8, a[]=1{30, 20, 10, 40, 50, 70, 80, 60};

int 1, nx=3, x[]={30, 80, 1000};

NODE *root=NULL, **pp;

/] 2 EREBERDVERR

for(i=0; i<n; i++)
root=TreeAdd(root, a[i]);

/] 2 RBERERT
TreePrint(root, 0);

// /—FHIBR
for(i=0; i<nx; i++){
pp="TreeSearch(&root, x[i]);
it(*pp==NULL)
printf("¥n%d not found¥n¥n", x|[i]);
else
printf("%d deleted¥n", (*pp)->data);
TreeDelete(pp)
2 ERRARERT
TreePrmt(root, 0);

b
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// B BN

for(i=0; i<nx-1; i++){
printf("%d ", x[i]);
root=TreeAdd(root, x[i]);

h
printf(“added¥n");

/] 2 ERKRER T

)

TreePrint(root, 0);
return O;
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./a.out
80
70
60
50
40
30
20
10

30 deleted
80
70
60
50
40
20
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80 deleted
70
60
50
40
20
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1000 not found

30 80 added
80
70
60
50
40
30
20
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